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Sl. No.1
QBID:1007351

From among the four options given. choose the most appropriate sequence of the four phrases

given below. to make a meaningful sentence :

{A) turn to the next page

{B) once vou get to the end

(C) to find the correct answers

(D)  of the quiz

Choose the correct answer from the options given below :

(1) (A). (C). (B). (D)

(2) (D). (B). (C). (A)

(3) (B). (D). (A). (O)

(4) (C). (A). (D). (B)
(R)
(B)
(©
(D)

A W N =

Sl. No.2
QBID:1007352

Choose the correctly spelt word.
(1) Egaliterian (2) Egalitarian
(3) Egalitirian (4) Egaletarian

(A)
(B)
(©)
(D)

A W N =

Sl. No.3
QBID:1007353
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Choose the correct sentence.

(1) Camera 18 piece of equipment used to take photographs.

(2) Camera 1s a plece of equipment used for taking photographs.
(3) Camera 1s a piece of equipment used to taking photographs.

(4) Camera 1s the piece of equipment used on taking photographs.

(A)
(B)
(©)
(D)

A W N =

Sl. No.4
QBID:1007354

Match List I with List I1.

Last I Last II
(word) {antonym)
(A) lively (D comfort
(B) release (II) discredit
(C)  bother (IIT) check
(D) appreciate (IV) dull

Choose the correct answer from the options given below :
(1) (A)-(IV). (B)-(III). (C)-(I). (D)-(IT)
(2) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)
(3) (A)-(ID). (B)-(IV). (C)-(I). (D)-(IIT)
(4) (A)-(IV). (B)-(II). (C)-(I). (D)-(IIT)

(A)
(B)
(©)
(D)

A W N =

Sl. No.5
QBID:1007355

From among the four options given. choose the word that iz opposite in meaning to
‘professional’

(1) Unemploved {2y Student

(3) Amateur {4) Executive

(A)
(B)
(©)
(D)
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Sl. No.6
QBID:1007356

Identify the correct direct narration for the following sentence.

Mot1 asked Gangu whether the latter was in his sense.

(1) “Heyv Gangu. are vou in yvour senses now: asked Mot1.
(2) "(Gangu. have vou lost vour senszes?” asked Moti1.

(3) “(Gangu. are you in vour senses?  asked Moti.

(4) “Are vou senseless. Gangu?” asked Mot1.

(A)
(B)
(©)
(D)

A W N =

Sl. No.7
QBID:1007357

¥

Which of the following 1= a one-word substitute for ‘a government by the wealthy'’

(1) oligarchy (2) anstocracy

(3) plutocracy {4) kelptocracy

(A)
(B)
(©)
(D)

A W N =

Sl. No.8
QBID:1007358

Pick out the synonym of the following word.

Optimist

(1) destructive (2) disappointed
(3) hopeful (4) funny

(A) 1

(8) 2

(c) 3

(D) 4

Sl. No.9

QBID:1007359
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Fill up the blank with the correct form of verb :

Neither of the two plans approved.
(1) were {2y  was

(3) were being (4) had

(A)
(B)
(©)
(D)

A W N =

Sl. No.10
QBID:1007360

Identify the passive voice for the following sentence.

Do not insult the poor.
(1) The poor are not insulted. (2) The poor should not be insulted.
(3) Let the poor not be insulted . (4) Let the poor be not 1insulted.

(A) 1
(B) 2
(c) 3
(D) 4

Sl. No.11
QBID:1007361

Member of Parliament will lose his membership if he is continuously absents from his
sessions for :

(1) 30 days= (2) 60 days
(3) 90 days (4) 120 days

(A)
(B)
(9)
(D)

A W N =

Sl. No.12
QBID:1007362

When value of money exceeds the commodity value of money, it is ealled

(1) Full bodied Money (2) Credit Money

(3) Fiat Money (4) Fiduciary Money
(A) 1
(B) 2
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(c) 3
(D) 4

Sl. No.13
QBID:1007363

Which of the following will become the first multilateral agency to open an office in the
(Gujarat International Finance Tech City (GIFT)?

(1) Asian Development Bank (2) World Bank

(3) New Development Bank (4) International Monetary Fund

(A)
(B)
(©)
(D)

A W N =

Sl. No.14
QBID:1007364

Name the first Indian firm which has entered the so-called global carbon market through the

farm sector

(1) nurture farm (2  nature farm

(3) unigue farm (4) carbon farm

(A)
(B)
(©)
(D)

A W N =

Sl. No.15
QBID:1007365

A retired judge of a High Court is permitted to practice as a lawyer in
(1) Supreme Court of India

(2) Any Court of India

(3) High Courts other than the one from where he retired

(4) (1) and (2) only
(A)
(B)

(©)
(D)

A W N =
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Sl. No.16
QBID:1007366

Invarable Concomittance relations are hike :

(A) The relation between Tree and Fruit
(B) The relation between Fire and Coolness
(C) The relation between Smoke and Fire
(D) The relation between Earth and Smell

(E) The relation where absence of one 1s the negation of other

Choose the most appropriate answer from the options given below:

(1) {A) and (D) only
(2) {A). (B) and (C) only
(3) (C) and (E) only
(4) {A). (D) and (E) only

(A) 1
(B) 2
(©) 3
(D) 4

Sl. No.17
QBID:1007367
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Match List T with List IT :

List I List IT
(A) Philosopher (). Rational
{(B) Truth (IIy Taste
(C) Tongue (IIT) Idea
(D) Alan (IV) Eternal

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(D. (C)«(ID). (D)-(III)
(2) (A)-(ID). (B)-(I). (C)-(IV). (D)-(III)
(3) (A)-(I1II), (B)-(IV). (C)-(II). (D)-(1)
(4) (A)-(III). (B)-(II). (C)-(I). (D)-(IV)

(A)
(B)
(©)
(D)

A W N =

Sl. No.18
QBID:1007368
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Put all the statements in a specific order. Choose the option which indicates a valid argument
containing logical statement that is. where the third statement 1s a conclusion from the
preceding two statements :

{A) All Cats are Pens

(B) All Dogs are Pens

(C) All Dogs are Cats

(D) Some Dogs are Pens

(E) Some Pens are Cats

(F) No Cat 1s Hen

Choose :

(1) (C). (D). (E)
(2) (A). (C). (D)
(3) (B). (E). (F)
(4) (C). (E). (F)

(A) 1
(B) 2
(c) 3
(D) 4
Sl. No.19
QBID:1007369
Match List I with List II :
List I List II
(A) Bees (I! Consciousness
(B) Mind (I) Poison
(C) Snake (III) Honey
(D) Human (IV) Thought

Choose the correct answer from the options given below :

(1) @-@. (B)-1I). (C)-aD), (D)-(IV)
(2)  (A)-dD. (B)-IV). (O(ID). (D)-D)
(3)  (A)-AV), (B)-(I). (C)-@). (D)-(I1I)
4 AQ-a). B-IV). (C)-1). (D)-D)
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(A)
(B)
(©)
(D)

A W N =

Sl. No.20
QBID:1007370

Match List I with List IT :

List I List IT
{A) Forest () Bacteria
(By Milk (II) Taste
{(C) Water (IIT) Trees
(D) Food (IV) Oxygen

Choose the correct answer from the options given below :

(1) (A)-(IID). (B)-(I). (C)-(IV). (D)~(IL)
(2) (A)-(IV). (B)-(II). (C)-(I1I). (D)-(I)
(3) (A)-(I). (B)-(IIL). (C)-(IV). (D)-(II)
(4) (A)-(ID). (B)-(IV). (C)-(I1I). (D)~(I)
(A)
(B)

(©)
(D)

A W N =

Sl. No.21
QBID:1007371

The polynomial p(x)=ax®+bx’+x-6. when divided by x+2 and x-2 leaves the
remainders 0 and 4 respectively. then

._ F . B

{.1} a=2.b=0 (2) ﬁ—?. EJ‘—Z

5] -1

(3 a=0,b=2 ay g

} ) 4 8
(A) 1
(B) 2
(c) 3
(D) 4
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Sl. No.22
QBID:1007372

Given below are two statements : One 1= labelled as Assertion A and the other 1s labelled as
Reason R.

Assertion (A) : If the areas of two circles are in the ratios 16 : 25 then their circumferences
are in the ratio 4:5

Reason (R) : If the areas of two circles are in the ratios A : A then their circumferences
are in the ratio /A4, :,/A, .

In the hight of the above statements. choose the most appropriate answer from the options
g1ven below :

(1) Both (A) and (R) are correct and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) {A) 18 not correct but (R) 1s correct

(A)
(B)
(9]
(D)

A W N =

Sl. No.23
QBID:1007373

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=gqD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0...

The diameter of a sphere 1s 6 cm. It 1s melted and drawn into a wire of diameter 4 mm. Then

the length of wire 1s

(1) 54 m (2y 86m
(3) 18 m (4) 9m

(A)
(B)
(©
(D)

A W N =

Sl. No.24
QBID:1007374

If @ and b are the roots of quadratic equation x*+ax—-b6=0 and b=0. then

1 b

(1) a=-1.b== (2) a==.b=-1
2 r,

(3) a=-1, b=2 1) a=1. b=%

(A) 1

(B) 2

(c) 3
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(D) 4

Sl. No.25
QBID:1007375

A three digit number 1s chosen at random. the probability that its hundred’s digit. ten's digit
and unit’s digit's are consecutive integers in descending order. 1s

(1) . (2) i

45 295

4 1

(3 il iy

) 2925 ) 75
(A) 1
(B) 2
(C) 3
(D) 4
Sl. No.26

QBID:1077001

Choose the correct sequence for protein transport in a cell.

(1) ER —* Golgi complex = Plasma membrane
(2) Nucleus = Golgi complex = Plasma membrane
(3) Golgi complex = ER ~* Lysosome ~* Plasma membrane
() Cytosol ™ Nucleus ™ Plasma membrane
(A) 1
(B) 2
(C) 3
(D) 4

HIRIAT H N Tt F T T 3eThar F1 goarg L |
(1) ey Snferr = amestt afFAs - careAT Eear
(2) Fegh — Mool AEAA — CHlGHT TSieell
(3) st GEAY — Jiasedr sifes = EEEE - SaeAT Bred
(4) FINFT BT ~ Fegd — “oloH Breat
(A)
(B)

(©)
(D)

A W N =

Sl. No.27
QBID:1077002
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Enzyme responsible for relaxing positive supercoiling of DNA in prokaryotes

(1) Type I topoisomerase
(2) DNA gyrase
(3) Catenase
(4) DNA ligase
(A) 1
(B) 2
(c) 3
(D) 4
Uraiied e qarT AR & SLua.w. i g gueisier i [
grdr &

(1) Y 1 SN HEEH
(2) ATAT. TR

(3) Feaot
(4) G RUSCIETIE
(A) 1
(B) 2
(C) 3
(D) 4
Sl. No.28

QBID:1077003

Sudan Black is used for staining of

(1) Protein
(2) Lipid
(3) Carbohydrate
(4) Cytoskeleton
(A) 1
(B) 2
(©) 3
(D) 4

e <ok 57 # ¥ 58 33 F v 39 # o@n SEr g o
(1) CIEC]

(2) ICILE]

(3) FEAESIC

(4) Fifpr B

(A) 1
(B) 2
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(c) 3
(D) 4

Sl. No.29
QBID:1077004

Sodium — Potassium ATPase transports

(1) 3Na Inand 2 K Out of the cell
(2) 2 K" Inand 3 Na™ Out of the cell
(3) 3 K Inand 2 Na™ Out of the cell
(4 2K Out and 2 Na  In of the cell

(A) 1

(B) 2

(©) 3

(D) 4

Aifzgw - gefas v vy ve=aEs 989 FLar &
(1) 3Na & H=e? 3T 2K FF FIfFr F a7
(2) 2K 3wl AT 3 Na” &5 SHITFT F a8
(3) 3K &I Heel HIT 2 Na st FIfd=r & agw
(4) 2KTHr agT 3T 2 Na” B FifE F =T

(A)
(B)
(©)
(D)

A W N =

Sl. No.30
QBID:1077005

Voltage-Dependent Anion-selective Channels (VDACs) allow passage of small
molecules across

(1) Endoplasmic reticulum
(2) Outer membrane of mitochondria
(3) Ribosome
(4) MNucleus
(A) 1
(B) 2
(c) 3
(D) 4
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frafaf@a & ¥ fres 91 e HuEd & Jeear R Homaa aaacA+
ANT (VDAC) ¥ A #T AT € 2

(1) Hagedt Frforr

(2) HIASTOHRT FT TEdr Freolr

(3) TEarEH

4) e

(A)
(B)
(©)
(D)

A W N =

Sl. No.31
QBID:1077006

Which of the following is a non-parametric test 7

(1) Chi-square test
(2) T-test
(3) F-test
(4) Z-test
(A) 1
(B) 2
(c) 3
(D) 4

o & | Flear amwrad gferor § 2
() FrEad gherr
2) Sr-gdtefor
3) TH-g{EToT
) Ste-adiaTor
(A) 1
(B) 2

(c) 3
(D) 4

Sl. No.32
QBID:1077007

Which of the following is known as positional average ?

(1) Mean deviation
(2) Standard deviation
(3) Median

4) Mean

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...  14/71
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(A)
(B)
<)
(D)

e & & wiaar ufa sttea (@shas o) 20
(1) ATy o=
(2) A= 9o
(3) HTTEI=HT
(4) T

A W N =

(A)
(B)
(©)
(D)

A W N =

Sl. No.33
QBID:1077008

Haplodiploid system of sex determination is found in

(1) Humans
(2) Grasshoppers
(3 Birds
(4) Honey bees
(A) 1
(B) 2
(c) 3
(D) 4

fara & @ former folor fwRor & e e[ gfae]fUia 9omell (guaifevenes
frTes) orfr =7 20

(1) AT
(2) fegr
(3) Tafr
(4) HUTHFET
(A) 1
(B) 2
(c) 3
(D) 4
Sl. No.34

QBID:1077009
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Example of multiple allelism is

(1) ABO blood grouping
(2) Dmscphi]a eve colour
(3) MN blood grouping
(4) Pea plant height

(A) 1

(B) 2

(c) 3

(D) 4

ferafaf@a # & Flerar sgiahedan #1 30T § ?

() w3 R R
@) greftser 1 sif@ @

(3) TH T SO WHEIHOT
(4) AT & ol f o

(A)
(B)
(©)
(D)

A W N =

Sl. No.35
QBID:1077010

When one gene masks the effect of another gene in a phenotype. then it 1s known as:

(1) Pleiotropy
(2) Epistasis
(3) Homeostasis
(4) Incomplete dominance
(A) 1
(B) 2
(c) 3
(D) 4

9 UF i fRdr gEY e i erorwdr wiieafaa #r oo & € ar 59
FAT Fgd £7

(1) e

(2) THEfHT (Saerdn)

(3) gaEdfas

(4) Ul geArfadr

(A) 1
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(B) 2
() 3
(D) 4

Sl. No.36

QBID:1077011

The association in which population of one organism is benefitted and population of the
other 1s unaffected 1s known as

(1) Symbiosis
(2) Commensalism
(3) Mutualism
(4) Parasitism
(A) 1
(B) 2
(c) 3
(D) 4

UHT HaY TIEH TF 10T HHASTH H BIFST F § W GEIT UT HAGHE
HYAIS & & Fealar g -

(1) ggstitadar

2) TEsifera

(3) TEIIHIILar

4 EEENEL
(A)
(B)

(©)
(D)

A W N =

Sl. No.37
QBID:1077012

MNanda Devi Biosphere Reserve is located in which State ?

(1) Tamil Nadu
(2) Uttarakhand
(3) Odisha
(4) Meghalaya
(A) 1
(B) 2
(c) 3
(D) 4
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A=l &3 SaHsd @9y 5y v=m & fa €0
(1) GIEEGIE
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3) shfeem
(4) AeTerd

(A)
(B)
(©)
(D)

A W N =

Sl. No.38
QBID:1077013

Genetic material of Coronavirus is

(1) Single-stranded RNA
(2) Double-stranded ENA
(3) Single-stranded DNA
(4) Double-stranded DNA
(A) 1
(B) 2
() 3
(D) 4
FUAT fawmo] 7 HERF g7 Hiaar § 0
(1) THEAT ALTAT.

(2) CAER E I IER T RY
3) THFEAT S0AT.

4) CAELEICRAC R

(A)
(B)
(©)
(D)

A W N =

Sl. No.39
QBID:1077014
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+180
+120

+60
0

-60

-180 +180
0

A

In the above mentioned Ramachandran Plot. A and B represent the followmg
respectively

(1) Right-handed o-helix and left-handed o-helix
(2) Right-handed a-helix and p-pleated sheet
(3) B-pleated sheet and left-handed o-helix
(4) f-pleated sheet and right-handed e-helix
(A) 1
(B) 2
(©) 3
(D) 4
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A

+
0 180

TN T T AT F & F AN BFAT A Fd s g & ¢

(1)
(2)
(3)
(4)
(A) 1
(B) 2

(c) 3
(D) 4

Sl. No.40

QBID:1077015

gfaroTadt Tewr FaTfoe 3T ITAEE Towr FHITioe!
gferomad vewr FEifoet iR e Fodllod A=oE
d1eT Fodifod =g M IAEE Toh FeifoeT

41eT Fedltod =oeg A gfaomad! vewr FerfesT

Phospholipase C cleaves phosphotidyl-inositol 4. 5, bisphosphate into the following:

(1)
(2)
(3)
(4)
(A) 1
(B) 2
(c) 3
(D) 4

Phosphotidyl-choline and Phosphotidic acid
Phosphotidic acid and Choline

Inositol 1, 4. S-triphosphate and diacylglycerol
Triacylglycerol and Inositol-triphosphate
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BIABEEYS Tl BIAPICSEd-Sagerd 4. 5 aShAhe 1 Geaa F:3F F1
aATar 7

(1) BIEBIESEa -Hieid AR HEBIEEH HFa

(2) HIEBIeEF 3Fa 3R el

(3) sAIAEle 1.4, 5-ZEHAkhe AT sEraEARaaer

(4) TETARAR AT AT SATACII-CIEHEhe

(A)
(B)
(©)
(D)

A W N =

Sl. No.41
QBID:1077016

The formation of hypoblast in birds is a result of

(1) Epiboly
(2) Delamination
(3) [nvagination
(4) Involution
(A) 1
(B) 2
(c) 3
(D) 4

g 0T ¥ 9fFAT & 3 A TAAT B 0
1) s (o)
(2) EEINEEICE R
(3) Ao (STafaarerT)
(4) sty

(A)
(B)
(©)
(D)

A W N =

Sl. No.42
QBID:1077017
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Lysozyme cleaves peptidoglycan at

(1) N-acetyl muramic acid and N-acetyl glucosamine
(2) N-acetyl glucosamine and N-acetyl muramic acid
(3) N-acetyl muramic acid and N-acetyl muramic acid
(4) N-acetyl glucosamine and N-acetyl glucosamine

(A) 1

(B) 2

(C) 3

(D) 4

sETEH Yuiesvarssa & Rged w=d & -

(1) TA-UTHEge #F A+ e I TA-UHesd ToHaraa & i
@ UH-UTHeTse THTAE A TH-URiesd FRIEE wed F A"
(3) rta-tfaerEea FfE+ s 3R wa-tiese #ias 37 F

=

) TA-UTHEES THATAT dR TA-Uesd TqharAe & fI
(A)
(B)

(©)
(D)

A W N =

Sl. No.43
QBID:1077018

Direct Greenhouse gases do not include

(1) Methane
(2) Carbon dioxide
(3) Mitrous oxide
(4) Sulphur Dioxide
(A) 1
(B) 2
(c) 3
(D) 4
T & @ Fiad deh g e g g 2
(1) Hra=

2) FIee SIEHFAES

3) AlseH 3FaSS

4) o STS3FaEs
(A) 1
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(B) 2
() 3
(D) 4

Sl. No.44
QBID:1077019

Which one of the following technique 1s used for the characterisation of RNA ?

(1) Western blotting
(2) Southern blotting
(3) Northern blotting
(4) Eastern blotting

(A) 1

(B) 2

(©) 3

(D) 4

IR U U T Fwar e & for Ffaf@a & @ siadr g g J
ot ST § 2

(1) et ot (Fest @R

(2) zfaroft onfr (wea sarfem)

(3) Ioadl ot (Ated sdrfem)

(4) gd@t aieT (ST salited)

(A)
(B)
(©)
(D)

A W N =

Sl. No.45
QBID:1077020

In the formation of agarose gel. which one of the following bonds is involved ?

(1) WVan der Waals mteraction
(2) Intra-chain hydrogen bonding
(3) Inter and Intra-chain hydrogen bonding
(4) Disulphide bond
(A) 1
(B) 2
(Cc) 3
(D) 4
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(1)
(2)
(3)
(4)
(R)
(B)

(©)
(D)

A W N =

Sl. No.46

31 T arew HEY
SEHHSS HEY

QBID:1077021

Melatonin is derived from which of the following?

(1)
(2)
(3)
(4)
(A) 1
(B) 2
(c) 3
(D) 4

e e T ¥ Fag g gar £ 2

(1)
(2)
(3)
(4)

(A)
(B)
(9)
(D)

A W N =

Sl. No.47

Epinephrine
Nor-epinephrine
Serotonin
Histamine

UL EIrC
A-UTIAH T
Al
ferea=

QBID:1077022
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Which one of the following 1s known as pacemaker of the heart?

(1) Sino-Atrial Node
(2) Arno -Ventricular Node
(3) Purkinje Fibres
(4) Bundle of His
(A) 1
(B) 2
(c) 3
(D) 4

fafaf@a & & raer ggg &1 9udA FgT Jar g 7
(1) Rrr anfelg &

(2) feig e od

O g

4) CECHCI R

(A)
(B)

(©)
(D)

A W N =

Sl. No.48
QBID:1077023

In the stomach. hydrochloric acid (HCI) is secreted by

(1) Chief cells
(2) Parietal cells
(3) Enterochromatfin cells
(4) Mucous cells
(A) 1
(B) 2
(c) 3
(D) 4

FraTe@d & @ Hiadr FfEHT @R FanT # gEseais HFd HT
T g ar § 2

(1) A FIAFT (T FITA)

2) RIS R

(3) UACUShIA T HITAHT

4) FGFHA FHITAFT
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(A)
(B)
<)
(D)
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Reabsorption of water via the distal convoluted tubule is by which of the following?

(1) Rennin and angiotensin
(2 Aldosterone
(3) Vasopressin
(4) Glucocorticoid
(A) 1
(B) 2
(c) 3
(D) 4

frrafaf@a ® ¥ fFus voma @ gury wafog aforsr & 9=l F7 ey
g & 2

(1) e 3y v=ieieafaa

(2) TASITEeU

(3) FaafaT

() TPIPIICHISS

(A)
(B)
(©)
(D)

A W N =

Sl. No.50
QBID:1077025

Hormone responsible for metamorphsis in frog 1s :-

(1) Ecdysone
(2) Juvenile hormone
(3) Growth hormone
(4) Thyroid hormone
(A) 1
(B) 2
(c) 3
(D) 4
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(A)
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(D)
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Sl. No.51
QBID:1077026

Embryonic cleavage in mammals is

(1 Rotational cleavage
(2) Radial cleavage
(3) Bilateral cleavage
{4) Discoidal cleavage
(A) 1
(B) 2
(c) 3
(D) 4

freafaf@a # & fFe R #1 Hoita Rgea Faaufat & amr smEr g 0
(1) goidr (o) g
(2) afegFiftas (ETe) A
(3) o (FrEeeTe) Aeaa
C faarsr (Beprssa) fagea
(A) 1
(B) 2

(c) 3
(D) 4

Sl. No.52
QBID:1077027

Neoteny 1s exhibited by :-

(1) Axolotl larva
(2) Zoea larva

(3) Bipinnaria larva
(4) Planula larva
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(A)
(B)
(9)
(D)
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@ sgar a7 (amam)

(3) TSt 8 (o)

(4) Co=gol B3 (AE)
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The six-kingdom classification was proposed by whom?

(1) R.H. Whattaker
(2) Carl Woese
(3) Carolus Linnaeus
(4) Herbert Land

(A) 1

(B) 2

(c) 3

(D) 4

fArafaf@a & @ s ©: g9t & witrserg #r Teffezor fmar o
(1) HR.TE. e

(2) FTer IH

(3) g fFag

(4) ZEE o=

(A)
(B)
(©)
(D)

A W N =
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The structural basis in sponges is provided by which of the following?

(1) Pinacocytes
(2 Choanocytes
(3) Porocytes
(4) Amoebocytes

(A) 1

(B) 2

(c) 3

(D) 4

Tafof@a # ¥ Fiadr Fiftsr guiat F g=ar F71 3 adar g 2

(1) RrerFraTSes (F91E HI)
2) FIoArETET (o HfRr)
(3) IRIATEEH (T3 FIfAFD)

(4) TR (e R

(A)
(B)
(€
(D)

A W N =

Sl. No.55
QBID:1077030

Methylation of Uracil forms which of the following?

(1) Adenine
(2) Cytosine
(3) Guanine
(4) Thymine

(A) 1

(B) 2

(c) 3

(D) 4

e 7 8 e & FuEea ¥ Fr acg gar € 2
(1) UECIC]
(2) R

(3) AT
(4) A=A
(A) 1
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(B) 2
(c) 3
(D) 4

Sl. No.56
QBID:1077031

Which of the enzyme catalyses the formation of peptide bond between two amino

acids?
(1) Peptidases
(2) Peptidyltransferase
(3) Phosphodiesterase
(4) Proteases

(A) 1

(B) 2

(c) 3

(D) 4

Frafaf@a & ¥ slawr vraed & vdia 3 & fig F doergs ey #7
AT H ISROT FLAT B ?
(1) =2 oe
@ dReRw gl
(3) BrEGEETEST
(4) Wifeefaer
(A) 1
(B) 2

(c) 3
(D) 4

Sl. No.57
QBID:1077032

Histone Acetyl Transferase (HAT) acetylates which ammo acid of histone ?

(1) Lysine
(2) Histidine
(3) Serine
(4) Proline

(A) 1

(B) 2

(c) 3

(D) 4
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fBrel vfeEa orawis (HAT). s & g vdsr 3o #1 vdifead
AT § 2

(1) A=A

(2) fefecda

(3) =

(4) CIEIG]

(A) 1
(B) 2
(c) 3
(D) 4

Sl. No.58
QBID:1077033

Which of the following immune cells are known as polymorphonuclear (PMN)
leucocytes ?

(1) Macrophages
(2) MNeutrophils
(3) Monocytes
(4) Eosinophils

(A) 1

(B) 2

) 3

(D) 4

ferafaf@a & @ Flawh srEFET FRF FT TgEaHgh ¥am] 3 Fgd & 2
(1) qed HETHI] (HFIhTa)
(2) =g ifhed
(3) TH-hgehlv] (HIAIEEEH)
(4) s fARreT

(A)
(B)
(©)
(D)

A W N =

Sl. No.59
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Cytotoxic T cells are :-

(1) [ b B B L
(2) CD3™ CD4”
(3) CD4" CD8™
4) CDE CRa™

(A) 1

(B) 2

(C) 3

(D) 4

T # ¥ FlF Fiftem el & FiftewnEt (gEceEas &
FITIRTHT) T ForaT & 2

(1) CD3" CDS§”
(2) CD3 CD4"
(3) CD4" CDS§”
(4 CDE RS

(A) 1

(B) 2

(c) 3

(D) 4
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QBID:1077035

MHC-II is expressed by which of the followmg?

(1) All nucleated cells
(2) Antigen presenting cells
(3) RBCs
(4) All leukocytes
(A) 1
(B) 2
(c) 3
(D) 4

fFfaf@a # & Fi9 MHC-I FF 3ffegsa star £ 7
(1) a3t e SR

(2) fcrste gedfa IR

(3) el {&Fd HIoTHT

“4) |3 239 & 0T

(A) 1
(B) 2
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(c) 3
(D) 4

Sl. No.61
QBID:1077036

Tetrapods and insects first appeared during which period?

(1) Silurian
(2) Ordovician
(3) Devonian
(4) Permian

(A) 1

(B) 2

(c) 3

(D) 4

Iqearg IR Fre Ffaf@a 7 @ FaF F1e 7 9w e ge 2
(1) ILEreC]
(2) RSA T
(3) [ECuCDC]
(4) A

(A) 1

(B) 2

(©) 3

(D) 4
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QBID:1077037

Molecular clock concept used to measure evolutionary changes 1s based on:

(1) ™ isotope embedded in the organic content of an organism
(2) Cwelie changes in the content of some key regulatory molecules
(3) Circadian rhythms
(4) Some genes or gene regions of genome evolve at constant rate
(A) 1
(B) 2
(c) 3
(D) 4
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QBID:1077038

Which one of the following is a post-zygotic barrier in speciation ?

(1)
(2)

-~
0
Nt
A W N =

Behavioral Isolation
Habitat Isolation
Temporal Isolation
Hybrid Sterility

ﬁmﬁﬁaﬁﬁmﬂmﬂ?ﬁmmaﬂmﬂwm??

(1)
(2)
(3)
(4)
(A)
(B)

(©)
(D)

A W N =

Sl. No.64
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QBID:1077039
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The area that contains at least 1500 species of vascular plants as endemic species along
with at least 70% of habitat loss 1s designated as :-

(1) National Park
(2) Biosphere Reserve
(3) Biodiversity Hotspot
(4) Ecologically Sensitive Area (ESA)
(A) 1
(B) 2
(c) 3
(D) 4

v+ &7 Tud ruelT gafa F ® #1500 99T Haga uiut Hr oFar
70% de FT HEmEr (gfede) @i gdr .39 41 FEa 22

(1) T ark

(2) SAGHUSS I

3) Sa-fafeerar gre-mme

) qRfEafas TdeAfear &9 (T.H.a7)

(A)
(B)
(©)
(D)

A W N =
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Ascaris lumbricoides 1s

(1) Acoelomate
(2) Pseudocoelomate
(3) Coelomate
(4) Nephrocoelomate
(A) 1
(B) 2
(C) 3
(D) 4
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THSHRA FAFaRIFISH

M e+ &

(2) Fedrae &

OB X

(C)) ARUHATAT &

(A) 1
(B) 2
(©) 3
(D) 4

Sl. No.66
QBID:1077041

Match List I with List I

List 1 List I1
A.  Diaphysis [. The regions between the diaphysis and epiphysis
. s A thin membrane that lines the internal bone
B. Epiphysis IL E
surface

C. Metaphysis III. The proximal and distal end of the bone
D. Endosteum [V. The long cylindrical main portion of the bone
Choose the correct answer from the options given below :

(1) A-L, B-IILL C-1V, D-11

(2) A-1V, B-III, C-1, D-11

(3) A-1, B-1v, C-11, D-111

(4) A-IV, B-11, C-1, D-111
(A) 1
(B) 2
(c) 3
(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...
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-1 9T G-I % | Here

143?” gjnﬁu
A ITITRTET (HTEUFE) L zrofefaw ik ohfefdw &
| FT TAH

B. vdifrfaw (arfawad) I ol Brear o 378y F 3di+
55 WX Bl &

C.  Fefefaw (3rE) I et s1fr 1 fasesy 3R eusica

D. u=SfEeow (imtftyse) V. 72y =7 =1 o= o

A fqU v et F @ e 3ca¥ T

(1) A-L B-IIIL C-IV., D-II
(2) A-IV. B-III. C-1. D-II
(3) A-IL B-IV. C-II. D-III
(4) A-IV, B-1I. C-1, D-III
(A) 1
(B) 2
(c) 3
(D) 4
Sl. No.67
QBID:1077042
Match List [ with List 11
List ] List1l
A, Renal calculi 1 A condition characterized by
proteinuria and hyperlipidemia
B. Nephrotic syndrome IL Kidney tubules become riddled
with cysts
C. Renal failure IlI. Kidney stone
D. Polycystic kidney disease IV. Cessation of glomerular
filtration
Choose the correct answer from the options given below :
(1) A-l, B-1V, C-11, D-111
(2) A-IIL, B-1V, C-11, D-1
(3) A1l B-11L, C-1, D-IV
(4) AL B-1L, G-IV, D-11
(A) 1
(B) 2
() 3
(D) 4
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gA-1% GA-11F | Her

Gl =T I
A {Fd Fowgers L gréegfar AR eewiefEdar

Fr afa

B. awifes =@ ugshar I gFwafasa # e &1 g

HETETT)
C. Jaa Sl (FF+ & Awean 1L frsedr w1 (6 9o
D. oreifafees frselt Fr fardr IV SR =0 & frecna (Ree)

Rl ThdAl
A for arr fawedt F & WEr 3eaw 9w
(1) A-L B-IV. C-II. D-III
(2) A-III. B-IV. C-II. D-I
(3) A-IL B-III. C-I, D-IV
(4) A-IIL B-1. C-IV D-II
(A) 1
(B) 2
(c) 3
(D) 4
Sl. No.68
QBID:1077043
Match List I with List I1
List1 List 11
A, Glycine l.  Aromatic amino acid
B. Tyrosine II. Amino acid having chiral C-atom in side chain
C. Tryptophan Ill. Optically inactive
D. Threonine IV. Amino acid undergoes phosphorylation
Choose the correct answer from the options given below :
(1) ATV, B-L, C-11, D-1
(2) AL B-11, C-1V, D1
(3) A-IIL, B-1, C-IV, D-II
(4) A-IIL B-IV, C-1, D-11
(A) 1
(B) 2
(c) 3
(D) 4
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-1 A% T R
= I =T 1
A TarsdE L oqefes et e
B. zrrde I ydfar aa 5wd =t C 3] §Es
o H T §

C. fRgerha I1L. 0T HEI;UIFF
D.  faifes IV. @& sa Swd Gremiersd giar &
A for v Rt & ¥ wEF seay IR0

(1) A-IV. B-TIL. C-IL D-I

(2) A-IIL B-II, C-IV, D-I

(3) A-TIIL B-1. C-IV, D-II
(4) A-TIL B-IV. C-I, D-II

(A) 1
(B) 2
(c) 3
(D) 4

Sl. No.69
QBID:1077044

Match List I with List II

List1 List II

A, Smooth endoplasmic reticulum l. Protein synthesis
B. Rough endoplasmic reticulum II. Detoxification
C. Lysosome L. Oxidative phosphorylation
D. Mitochondria IV. Intracellular digestion
Choose the correct answer from the options given below :

(1) A-1L, B-L, C-1V, D-111

(2) A-1, B-1L, C-HI, D-1V

(3) A-11, B-1IL, C-1, D-IV

(4) Al B-1V, C-I1L, D-111
(A) 1
(B) 2
(c) 3
(D) 4
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-1 G-I F Jry Fer

T 1

Rrerelr 3rageT Arforr L
TeT HoecdT STferaT

A,
B.

C. EOEH
D.  HAhIUTH

IL

IIL.
IV.
A fgT v et # @ e 3caY T

(1) A-TL, B-I, C-IV, D-III
(2) A-L B-II, C-TII, D-IV
(3) A-TL, B-IIL, C-I, D-IV
(4) A-T, B-IV. C-II, D-III

(A) 1
(B) 2
(c) 3
(D) 4

Sl. No.70
QBID:1077045

Match List I wath List I1

List I
A, Allopatric Species

B. Sympatric Species
C. Sibling Species

D. Parapatric Species

111,

IV.

List I1

=T 11

I HIwoT
IGEUELIETau)
HrFgrefeT wrEwieres
Ha: FIfEPr e

Species inhabiting the same geographical

area

Species inhabiting different geographical

areas

Species occupying separate areas that share

a common boundary

Species which are morphologically identical
but reproductively isolated

Choose the correct answer from the options given below :

(1) AL, B-I, C-IV, D-III
(2) A-1, B-11, C-111, D-IV
3) A-1, B-11L, C-1V, D-11
(4) A-I1, B-1V, C-1, D-11I

(A) 1

(B) 2

(c) 3

(D) 4
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gA-1 % G-I F T R
L
A Rrafas v

B. garafas Teia

€. wereT TefE

D. thfes wefe

ITL.

IV.

=T I

e &1 v e e
9 9 AT 2

TiRls ST srerer-3reer e
TAAT 9X TEar gl

el St T OREET 3@ F
HT-9RX 9o+ &9 # Tl &l
Tets GTEd AT
Il gl § g ToadcH
e garidt &

A fer ar et # ¥ ®Er 3eaw I

(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D)

A W N =

Sl. No.71

A-TI. B-I. C-1IV, D-III
A-I B-IL C-IIL, D-IV
A-L B-IIL. C-IV, D-II
A-TI. B-IV. C-I, D-III

QBID:1077046
Match List I wath List I1

ListI List 11
A, Bone marrow l. Hematopoiesis
B. Spleen II. T-cell maturation
C. Lymph Node II1. Filtration of blood-borne antigen
D. Thymus IV. Filtration of tissue-associated antigen

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D)

A W N =
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A-1, B-IV, C-1L D-111
A-1IL B-1, C-11, D-1V
A-IL B-L, C-IV, D-11T
A-1, B-1IL C-1V, D-11
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-1 & G-Il & |/ fAJen
1 g 1

A. HEy Ao . T&Facded
B. oo 1. €r IR @ giigsaar
C. o 99 I, & JAad widsteT &1 Ster
D. UZAA IV. Fdas-Haftd afdss T &=
A T fAwedl § & TE 3T gﬁtr :
(1) A-1, B-1V, C-I1. D-III
(2) A-IIL B-L. C-II, D-1V
(3) A-I1, B-1, C-IV. D-1I1
(4) A-I, B-TIL, C-IV_ D-IT
(A) 1
(B) 2
(C) 3
(D) 4
Sl. No.72
QBID:1077047

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion 4 .

Hemoglobin binding to oxygen is non-cooperative.

Reason R :

Hemoglobin is the oxygen carrier.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A 1s correct but R is not correct
(4) A 1s not correct but R 1s correct

(A) 1

(B) 2

(c) 3

(D) 4
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HIAFT A -
BIATEITEeT T ol & S[ge HFpden gt § |

HNIT R :

AGIECIEGERIET R

mm#mﬁ,mmm%ﬂﬁ#mmmﬂ

T+ fifae
(1 A 3R RS w8 & 3 R A S wEY cmrEr #
(2) A 3T R T w8 & afFa R A S wér carear A6 §
(3) ATE ¢ afheT RES 78T &
(4) AT AET T A FT REST &

(A) 1

(B) 2

(c) 3

(D) 4

Sl. No.73

QBID:1077048

Given below are two statements : one is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A :

Scientists believe that RNA is the primitive genetic material.

Reason R :

RMA has the ability to catalyze chemical reactions.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1)

(2)
(3)
(4)

(A)
(B)
(©)
(D)

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...

A W N =

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A
A 15 correct but K 1s not correct

A is not correct but R is correct
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AT o FAA £ T AEFAT AF w9 # QT § G g8 35F FROT R
F FTH |
FHHFUA A :

SIS HT T AAAT § 5 HR.TA.T. (RNA) TF 9T A% geF & |

PNUT R :

HN.UA.T. (RNA) H TaAF B F1 30970 F9 FT 541 21

3GUFd FUAT F Helw A A QU a0 FFent # § g8 39gFd 3cal #
TI HIfaT

(1)

(A)
(B)
(©)
(D)

A W N =

Sl. No.74

AR RS EY & T R AS Ty s
AT R T8 & Afra R A Fr T e Ad E
A el g JIfhs REET €T &

ATE AL g AT RAGT ®

QBID:1077049

Arrange the events in correct order of sequence :

A

moaw

(2)
(3)
(4)

(A)
(B)
(<)
(D)

A W N =

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...

Cleavage

Fertilization

Morula

Gastrula

Blastula

Choose the correct answer from the options given below :
AB.E.C.D

B.A.C,E,D

B.C.AE. D

B.C.,E.D. A
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so7 gea3il i A # cgafeyg fifew

IEEGEH
IGLEGE

HIET
e

sollCell

-

m o ok

ar fer v [{eedt & & ¥ 3o &1 T3 fafaw

(1) A,B,E,C,D
(2) B,A,C,E,D
(3) B,C,A,E,D
(4) B,C,E,D, A

(A) 1
(B) 2
(c) 3
(D) 4

Sl. No.75
QBID:1077050

Arrange the following in decreasing order (size).

A Mitochondria
B Proteins
6 Ribosomes
D. Human egg
E Nueleus
Choose the correct answer from the options given below :

(1) DA C B E
(2) D,A.C.E B
(3) D.E.C,A.B
(4) D.E A G B

(A) 1

(B) 2

(©) 3

(D) 4
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A.  gIAROEH
B. W=

C. SsSEHA

D. H=EG 312
E

-

= v a7 BEedt # ¥ 98 3ok T 99T Fifew

(1) D,A,C,B,E
(2) D,A,C,E, B
(3) D,E,C, A, B
(4) D,E,A,C,B

(A) 1

(B) 2

(C) 3

(D) 4

Sl. No.76

QBID:1077051

Arrange the following in sequence of molecular events.

A

B
| o4
D.
E

(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D)

A W N =
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Transcription
MNuclear Export
Translation
Splicing
Glycosylation

Choose the correct answer from the options given below :

A,D,B,CE
ABCDE
C.D.E.A.B
B.AE,C,D
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frfaf@da anftas aRadet #I geama & 3ar faf@o |
SRR

Feghrg T

MR

L CIEIEE

: ToTSHIALT

A foT 71T faFedl # & ¥8 3o} & 994 HifAv

m o nw @

(1) ADBC, E
(2) A, B,C,D,E
(3) C,D,E, A B
(4) B,AE.C,D
(A) 1

(B) 2

(c) 3

(D) 4

Sl. No.77

QBID:1077052

Arrange the following in the correct sequence of DNA packaging.

AL DNA Scaffold

B. Nucleosome formation

c. Chromatosome formation

D.  Histone Dimerization

E. 30 nm fiber

Choose the correct answer from the options given below :

(1) D,A.C.E.B
(2) D,C,B.E A
(3) D.B,C,E, A
(4) D.B.E,C. A

(A) 1

(B) 2

(C) 3

(D) 4
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.UA.T. (DNA) T ¥ GaT I9a1 F1 H@er 87 #7 fof@e |

A. DNA FHhthies
B =LFFEHA FT T

&4 FIACEA (Thel ~[FAHAH) HT TAT
D. fereis sEatEen (Saaas)

30 nm FISEL {HT—_D
;ﬁ?rﬁvmﬁarq’r#:ﬂrﬂé’rma:rmzﬁﬁv:
(1) D.A.C.E.B
(2) D.C.B.E.A
(3) D.B.C.E.A
(4) D.B.E.C.A

(A) 1

(B) 2

(c) 3

(D) 4

Sl. No.78
QBID:1077053

Arrange the following components of complement system as per their involvement in
initiation of alternative pathways of complement system.

Al Factor D
B. Factor B
G- C3b

D.  Properdin

Choose the correct answer from the options given below :

(1) C,A,B,D
(2) A,C,B,D
(3) A,B,C,D
(4) D.C.B. A

(A) 1

(B) 2

(c) 3

(D) 4
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A FEH D
B. FSF B
(] C3b
D. quEE
(1) C,A,B,D
(2) A, C,B,D
(3) A B C,D
(4) D,C.B A

(A) 1

(B) 2

(c) 3

(D) 4

Sl. No.79

QBID:1077054

Arrange the following animals on the basis of their phyla according to increasing level

of complexity.

o0 W

Choose the correct answer from the options given below :

(1)
(2)
(3)
“4)
(A)
(B)
(©
(D)

A W N =

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...

Limulus

Nereis

Taenia solium

Sycon

D, CBA
C,D;:AB
DB C A
C.D.B A
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frafof@a Saatl &t 39% §9 i Ffeaar Afas w=ffwmor & sgar 9ea

FH F & |

A forrgerg

=

B. Ay
C. =T Fifergs

D. TTSHI
A= fGT 71T Treat # ¥ GEr 3ca T 994 Fi=T
(1) D.C.B.A
(2) C.D.A.B
(3) D.B.C.A
(4) C.D.B.A

(A) 1

(B) 2

() 3

(D) 4

Sl. No.80

QBID:1077055

Arrange the following evolutionary events in horse chronologieally :

A. Equus
B Miochippus
€ Orohippus
D. Hyacotherium
E Merychippus
Choose the correct answer from the options given below :
(1) A B C.I;E
(2) D.C.B.E, A
(3) A.C.B.D.E
(4) BB C.E.A
(A) 1
(B) 2
(C) 3
(D) 4
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fFFAfai@d I 913 # gl are A 3gha | @ |

i EEEE
B. ArafeeTw
C. HRgeTH
D. grasrRTA
E. Aahfacgm
A 6T 71T AFedl & & Har 3ol FT 99 AT ¢
(1) A BCDE
(2) B.C B, Rk
(3) A CBDE
(4) D,B,C,E A

(A) 1

(B) 2

(c) 3

(D) 4

Sl. No.81

QBID:1077056

Given below are two statements :

Statement I :

Compound microscope includes condenser lens, the objective lens and the eye picce
lens.

Statement II :

Objective lens has a smaller focal length and aperture than the eye piece.

In the light of the above statements. choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are mcorrect
(3) Statement I 1s correct but Statement II 1s mcorrect
(4) Statement I 1s incorrect but Statement II 1s correct
(A) 1
(B) 2
(c) 3
(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...  51/71
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A &t Fua Rr aw € -
& I:
HOFd HeAcdl # HARr o=F. AHTTF o=g IUT A3 o= g & |
FUA II :
ATATITF o=H HT BIFY il AT ZIRF. ATFH 970 T FH 29 ¢ |
3qUFT FUAT F ATl A AR U 70 el # ¥ Fa@ 397+ el FH
TI9 AT :

(L) FUA 13T ST @Y &
(2) FAF 13T AT 1o 9 &
(3) FAF [ TEl §. bt FAF 11 Te0d &
(4) FUT 170 &, AThed FUF I TET &

(A)
(B)
(©)
(D)

A W N =

Sl. No.82
QBID:1077057

Given below are two statements :

Statement I :
Type I Hypersensitivity reaction 1s mediated by IgE.
Statement II :

Type I Hypersensitivity reaction is mediated by the formation of immune complexes
and activation of complement.

In the light of the above statements. choose the most appropriate answer from the
options given below

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement II is correct
(A) 1
(B) 2
(c) 3
(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...  52/71
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o g e o atw

FUA I :

ey 1 3fawadr afafkar 1gE & garr gk & |

FYUA Il :

erga 111 sifawadr wfafear 3 g7 Fiacoad F a1 3R TF F afraor
g & |

IWRIFd HUAI & el A, A QU 710 Fwvedt & @ Fad 30gFT oo}l

T8+ fifav
(1) Fu7 13T ne=t @i ¥
(2) FuT 13T 111 g §
(3) FUT 1 Ter £ afhT YT L aad &
(4) FUT 13T &, dfhd FUT 1 TET &
(A) 1
(B) 2
(©) 3
(D) 4
Sl. No.83
QBID:1077058

Given below are two statements :

Statement [ :

Flagella has 9 + 2 arrangement of microtubules.

Statement 11

Centriole has 9 + () arrangement of microtubules.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both Statement [ and Statement I are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement Il is incorrect
(4) Statement I 1s incorrect but Statement 11 is correct
(A) 1
(B) 2
(c) 3
(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...  53/71
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A 8 U R oaw §

FUT | :

FATHF 7 GeHaAloH 9+2% FAag A Jafead 81d & |

FUaT 11 :

aREeg # EAAfaE 9+ 0F FHag F sgafeud g € |

SWIF FYAT F el H, A QU 7¢ Fhedl # & T8 3UGFA oo H
T ST

(1) FUaT 13X 1= T &

(2) Fua 13K 1S e &

(3) FUT 1 Ter ¢, dfchd U 176 T &

(4) FUA 1376 &, Aifeed HYUT 1 HET &
(A)
(B)

(©)
(D)

A W N =

Sl. No.84
QBID:1077059

Given below are two statements :

Statement I :

Lysozyme, an enzyme found in mucous secretion and in tears. It cleaves peptide bonds
of the antigen.

Statement II :

Interferon comprises a group of proteins produced by virus-infected cells.

In the light of the above statements. choose the most appropriate answer from the
options given below

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement I is incorrect
(4) Statement I 1s mcorrect but Statement II 1s correct
(A) 1
(B) 2
(c) 3
(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...
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A a1 Faa ew AT §
FeeT 1
ASHISTSH S Tk R HT TraAlSH g, 20°H §aUr AT HA1gsT # 903r Siar
g I8 TS H 9T AT JTe UeerEs aut &7 Feed FEar g |
FA II
STl T Wil 1 §Hg ¢ o RAW] garr ShiAd. HIRHT Famdr ¢ |
IRIFT FUAT F % H A U 70 Fewrewt # ¥ §a@ 399+ 3ca F
TS HTAT

(1) FUF 13T I SAT THar &
(2) FUa 1 AT =" T &
(3) HUT [TEr g. dfehed U 1170 &
(4) FUA 1309 &. At FUF I HET &

(A)
(B)
(©)
(D)

A W N =

Sl. No.85
QBID:1077060

Given below are two statements :

Statement [ :

In non-competitive type of enzymatic inhibition, the V,,, decreases and k,;, remains
unchanged.

Statement i1 :

Temperature below freezing point causes inactivation of enzymes.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ 1s correct but Statement 11 1s incorrect
(4) Statement I is incorrect but Statement 11 is correct
(A) 1
(B) 2
) 3
(D) 4
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A 21 Fua fer 7T §
FYT 1 :
ygfaaelt 9FR & TeaEAT ¥EUUT H Vo, HH & JEr g 3T Ly, F8r
agerdr |
FeT 1T :
e ¥ A= T I9AT TealsH FF ASFT FT &ar ¢ |

IRIFT FAAT F HJAF A A U 70 Beredt # § g0 39g%d 3 H
T FfTT

(1) FUF 13T [T Tar &
(2) FUF 137 1S T &
(3) FUT [TEr §. Al HUA [ ITTT &
(4) FUAT 137070 & ifered FUF I TET &

(A)
(B)
(9)
(D)

A W N =

Sl. No.86
QBID:1077061

Given below are two statements :

Statement I

Myoglobin and haemoglobin are oligomeric proteins.
Statement If :

Myoglobin and haemoglobin are heme-containing proteins.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both Statement [ and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
(A) 1
(B) 2
(c) 3
(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...  56/71
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A & Fuer Rr aw #
e [ :
Araafas 3R fAeefas e (emsHdleE) 9fe § |
T I -
ARTehfae 3 EAeenfas fvgaa Ndw @ € |

SWRIFT FY=AT & JHTelieh H, A QT 70 Avedl # & T 3UGFA oo H
T ffFw

(1) F 13 1= wer &
(2) FUeT 13K neEt aea §
(3) FUT 1 TEr &, ofh a1 1190 d &
(4) FYUA 17761 &, Aifehed HYUT 1 HE &

(A)
(B)
(<)
(D)

A W N =

Sl. No.87
QBID:1077062

Given below are two statements :

Statement [

Hypothalamus regulates emotions and behaviour.
Statement f1 ;

Hypothalamus controls body temperature.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement 1 and Statement 11 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement | is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement 11 is correct
(A) 1
(B) 2
(c) 3
(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...  57/71
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A 3 Fug fqr AT §

FEA 1 :

EEOIEeHEYT (HRITH) AEATH A sgEEr (3T=Ren) FT FE90r Far §

& 11 :

EEUEHET (HTEEH) W F J9A F FIF0T Far E

IRFT FAAT F el J A U ov Feedt # & g9 39gFd 3ca] FH

T ff=T -

FUAT 13T 1S Far &
FAF 13T I AT 1o 9 &
FUT 1TE &, Afhed FUT IS &
FUAT 100 & Afered FUF I TET &

(1)
(2)
(3)
(4)
(A)
(B)

(9)
(D)

A W N =

Sl. No.88

QBID:1077063
Match List I with List II

ListI

Taiga

o0 ®p

Savannah

Temperate grassland

Temperate broadleat forest

L
IL

IIL.
IV.

ListII

MNorth American Plains

Home of ants, antelopes and lions
Deciduous trees, such as hickory and
birch

Spruce, fir, pine and hemlock trees

c hﬂcﬁe the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D)

A W N =

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...

A-IL B-1V, C-II1, D-1
A-1l, B-1V, C-1, D-11I
A-IV, B-1L, C-1, D-1I
A-IV, B-1L, C-1I1, D-1
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aﬁl%maﬁilﬂmﬂﬁv:

i il
A, HAET L Scair ¥A{E de=
Hifeat #at &l &
B. & 1. A 3T Tt
Fae s
quigrdr 92 T R 3
C. efrdrsor utg T 11
faer
Tod, v, g 3T gAdls
D. eofrcisor =idy ot Aol @ IV ﬂ;
A Rr arv fasedt # @ 68 3cad 1 994 fifSvw
(1) A-IL, B-1V, C-111, D-1
(2) A-I1, B-1V, C-1, D-I1I
(3) A-IV, B-11, C-1, D-1N1
(4) A-IV, B-11, C-TI1, D-1
(A) 1
(B) 2
(c) 3
(D) 4
Sl. No.89
QBID:1077064

Given below are two statements :
Statement I :

Migration refers to regular, recurrent and cyclical movement of animals from one place
to the other.

Statement I :
Migration occurs to manage the excess of food and water.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both Statement | and Statement 11 are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement | 1s incorrect but Statement 11 is correct
(A) 1
(B) 2
(c) 3
(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...  59/71
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A= a1 Faa e U §
T I :
TEH, AT ART U TR & Aafaa, wgea 3 = fAew afaaa

g |
FA II :

JIHA HcATa+ HER AR I F gaud & o gar & |

39Fd HUAT F S A A" GU T FFedt # & w99 39gFd 3ca] #
TIa FifFT

(1) eIl Faa 13T 1aT &

(2) Sl FUA 13T I HTT &

(3) FUF 18T § Weg I 7T ¢

(4) FUA I HHT § Wed 44 I FT §

(A)
(B)
(©)
(D)

A W N =

Sl. No.90
QBID:1077065

Choose the correct statement.

Differential gene expression can occur only at the level of transcription.
RNA polymerase binds to the promoter region to initiate transcription.
Enhancers regulate transcription.

Cnwp

Transcription factors can recognize specific sequences of DNA in
heterochromatic region.

E. Post-translational modification occurs in nucleus.

Choose the correct answer trom the options given below :

(1) A, D and E Only
(2) B and C Only
(3) B. C and D Only
(4) A, C and E Only

(A) 1

(B) 2

) 3

(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...  60/71
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Teafof@a # & ¥8r a9 iU |

HTF ST STFaar FaeT SIAHIAT F T 9T &7 & Hhar & |
HX TA T (RNA) Tolldild AT FAF 9T 99 FI SIHRIAA
FI YT FAT ¢ |

C. Ug=u% (F9E%) i i g & € |
D.  zfafsaee e DNA F [afire sgwat #t A 7aa W)
T o g |
E.  gigeled & 9 T TIAI0T Fegh H AT & |
At fer 1T fashedt # ¥ e 3ca) FT II4 HIAT
(1) %o A, DT E
(2) %aol BT C
(3) %del B.C3HRT D
(4) Fadd A.CHT E
(A) 1
(B) 2
(c) 3
(D) 4
Sl. No.91
QBID:1077066

Pernicious anemia is a result of

monwp

Deficiency of Vitamin B
Deficiency of Vitamin C

Blockage of Vitamin B, absorption
Blockage of Vitamin A absorption
Lack of proteins in diet

Choose the correct answer from the options given below :

(1)
)
3)
4)
(A)
(B)
(©)
(D)

A W N =

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...

A, B, C and E Only
C Only

B, C and D Only

D and E Only
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yomelt EFaredar & HROT §

moNn @ p

AT fer 71v @Feut & § ¥ 3o FT g3 HIfAT

(1)

~~
(o)
Nt
A W N =

faerfae &, #r F0
e & & Fr

faerfae &, F Eeiver 7 Ey
faerfAe v & 3raeiwor # ey
siste 3 fea &

&dd A B, C.E
Fad C

%ad B,C.D
Fad D, E

Sl. No.92
QBID:1077067

Which of the following are correct for MNC-1 molecule ?

Cnowg

Glycoprotein

Expressed by nearly all nucleated cells
Present antigen to Ty (T-helper) cells
Peptide-binding domain is «l and Bl

Choose the correct answer from the options given below :

(1)
2)
(3)
(4)

(A)

(B)

)

(D)

A W N =

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...

A and B Only
A, B and C Only
B, C and D Only
B and C Only

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=gqD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0...
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f=fofes & ¥ Fiaw F29 MHC 137 F oo wEr € 2

A TAREHNRES

B. 9 T Feghg FIRFEHT carT g AET 2
o

D.

Ty (Er-geTR) FITAFIST FI Fiaetet (TACe) TEIT FAT 2|
dUerss § duUd I IHE 8T ol 3T 1 E

A o ot Teut § ¥ T3 3cal FT T4 AT

(1) +del AT B
(2) del A.BIR C
(3) &del B.C T D
(4) Fae BT C

(A)
(B)
(©)
(D)

A W N =

Sl. No.93
QBID:1077068

The aminals having segmented body belong to the phylum

Protozoa
Cnidaria
Ctenophora
Annelida

Arthropoda

Mo 0w p

Choose the correct answer trom the options given below :
(1) A B and C Only

(2) C and D Only

(3) B and D Only

(4) D and E Only

(A) 1
(B) 2
(c) 3
(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...  63/71
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g ol e FeaT T # U Sl vEas (") F g § 0

i

s 2

QIEISAT3T
AT
SIATHIRT
TsATelTST
HRYEET

e fer aIT faFedl # ¥ WEr 3cal T 9494 HITAT

(A)
(B)
(©)
(D)

(1)
(2)
(3)
(4)

A W N =

del A.B3T C
+ael C HRT D
%ael B3R D
+del DR E

Sl. No.94
QBID:1077069

Choose the correct statement.

A,

B.

C.

B,

E.

Mean, median and mode are measures of central tendency.

Range, quartile range and standard deviation are the measures of spread or
variability.

Variance is the average squared deviation.

Continuous data arise from qualitative traits.

If mean of six data is 30, the sum of all the data will be 36.

Choose the correct answer from the options given below :

(A)
(B)
(©)
(D)

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...

(1)
(2)
(3)
(4)

A W N =

A, B and C Only
B. C and D Only
E Only

C and D Only

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=gqD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0...
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fA=fefEa 7 @ a8 saa sifew |

AT, ageieh R AfHsr Aeg gqfed & A9 § |

T, Tq9F T 3R A B afafdar & A §
gEoT HiEg a9 g §

Hed ks IOMAAS &0l d 3cdet 8 & |

afe @ Hiwst &1 Aeg 308 ar 3o HHar &1 IET 36 8191 |

monwe

#rd fer 71 faFedl # & el 3ok T IIA HIAT ¢
(1) Fadl A, B3R C

(2) Faa B,C3HR D

(3) ¥Id E

(4) Fad C 3R D

(A)
(B)

(©)
(D)

A W N =

Sl. No.95
QBID:1077070

In deserts. Kangaroos can survive without drinking water because of the following

reasons
A.  Dependence on protein rich diet
B.  Greater ADH level in the blood
C.  Absence of sweat glands

D. Dependence on metabolic water

Choose the correct answer from the options given below :

(1) A Oanly
(2) C and D Only
(3) A.B.CandD
(4) A, Band D Only
(A) 1
(B) 2
(c) 3
(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...  65/71
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eaa & i Feafafag srot fr 3oz @ far a0 Rv @ gsar & -

A 98T ¥ WP TH R R

B. =g & 9% &AM # v & v (ADH) F &ar
C. e afdm #1 7 g=r

D.  zurgerlt S 9 fHaiar

A fer a1r fSFenr § ¥ WEr 3caY T 99T HIAT
(1) A Faa

(2) C 3R DFaA

(3) A.B.C3R D

“4) A.B 3T DFaa

(A)
(B)
(©)
(D)

A W N =

Sl. No.96
QBID:1077071

Which of the following statements are true ?

A.  Dominant species have a large effect on the community because of its abundance.

B. Keystone species have a large role in community, out of proportion to its
abundance.

C.  Indicator species provide information on the overall health of an ecosystem.

D.  Flagship species is the single. large and instantly recognisable species.
Choose the correct answer from the options given below :

(1) A and D Oanly
(2) A and B Only
(3) A.Band C Oanly
(4) A.B.CandD

(A) 1

(B) 2

(c) 3

(D) 4

https://test.cbexams.com/ntacuetpgcandresponses09/candresponse_r.aspx?htno=qD3VfsLQfUpmzY6QZSuL6Q%3d%3d&id=d0XgcM%2b%2fGek...
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farafof@a # & ¥l fAeq T |

A

D.

IHE AT FT FHEE W HcATOF IHE 341 A0+ & H
gl T I8 ¥ 95T ¢ |
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Sl. No.97

QBID:1077072

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :
Primitive groove is the functional equivalent to dorsal lip of the amphibian blastopore.

Reason R :

Dorsal lip of the amphibian blastopore is considered as the primary organiser.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1)
(2)
(3)
(4)
(A) 1
(B) 2
(c) 3
(D) 4

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A
A is correct but R is not correct

A is not correct but R 1s correct
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Sl. No.98
QBID:1077073

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A -

The density of RNA molecule is higher than that of DNA.

Reason R :

RMNA has 2'0OH group attached to the second carbon atom of the ribose ring.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(A) 1

(B) 2

() 3

(D) 4
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Sl. No.99
QBID:1077074

Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A :

Water is an excellent solvent.
Reason R ;

Water has high dielectric constant.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A 1s correct but R is not correct
(4) A 15 not correct but R 15 correct

(A) 1

(B) 2

(c) 3

(D) 4
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Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion 4 :

Animals cannot convert fatty acids to sugars.

Reason R ;

Plants possess glyoxylate cycle.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(A) 1

(B) 2

) 3

(D) 4
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